EMBRVBEH EORECEOBER(FTM4F4A1BRTE)

TEEHE AR (—)

Eik

ERANEEBBRICRET 2BELLLOMT

op

il
=+

LEN

i £ D ER B

(N

(%)

4

(N

N

(%) ERBE

1#%

ERMGRBEITOIBRS

148

32%

EX

62

REL

31

HBETE

16

11

RAZET

t5:3:]

HIEIE R

mn e =

F=B

HEFETE

HBETR

B+

et LA VA B K2

&t

148

32%| EE#K

2#R

- EEDBH

50

11%

FE

—_
w |
N | co

FEREREL)

THERELETE)

F 4 (ERE2ER)

FF (BEm)

FE (AR EE)

FEEEE)

FHECGRET)

F A (EE)

&t

«
O|=|=|=|=|N[N|N oo

50

11%| E4EHR

3k

-EE DR

77

17%

FE

~
b

FEREL)

T & (B6m)

T & (fRE2EM)

FEE=EEH)

—_| =
L =1

&t

~
~

77

17%| £ &

4%k

-RRDBH

84

18%

5

w
©

&

N
~

B &k

—_
D

i

N

&t

(e
S

84

18%| R &R

58K

-REME OB

43

9%

RRAHE

N

BE&

BwEEe

ERAIE

ERME

ERMIE

BER

PRk

=== n|afe]|=

&t

~
[

43

9% | RERABIER

64k

-BRROB

43

9%

2%

=R

Fle=3

R

B

= |IN|INdfwlw|lo|o

RE

it

N
5

43

9% | FRZRAR

%

- B R DB

13

3%

&

55

S EEE

BERE

EBRE

i

wl=|=]=]|0]0

—_

13

3%| R FAR

b
_‘E

458

100%




ITEBEHR(Z)

J— e 5 — &t 2E Bl _E D ER RS
20 EMANBEEBBERICRET HEELL DB SSIBRCD) ) SSIRVSIECD) T
FREM. SEIRIREN. AR, AEE . R—LANIL/NA— K % . 4
B | EEER. ADEEET. KA XSRS OB o o S| TN EER
Hi 0
HLDORAEX [ERBRE N E LT SR, EiREh. £ ) E—
M @ EEA. kLAl SEEEA. HDEER | PhEER !
F OABEXXIIXEEZOHHE 5t 1
BEDOREEX [LRBRENE LT SR, SR, fER ) ——
W @ EEA. kLAl SEEEA. HDEER 2| SOMEEER 2
F OABEXXIIXEEZOHHE 5t 2
4% — R EEB AT EREEEE I ST EOBH 1 25%| EE (BB EEERTF) 1 1| 25%| E1EHK
&t 1
54% — AR EZEREEEET5EEORE 0 0% 0 0%| EE#K
&t 0
it 4(  100%
L2 1T BUS AR R
] ; A%t 2B B _E oD R
4 F b b Z38F b b p
£ EMANBEEBBERICIRE T HEELL DB ISIBCD) Y TSIRTSICH) T
1% - FE RSB DB 0 0% 0 0%| EEHK
& 0
24% " BEOMBRIIBRREVELTIEHREITIES 0 0% 0 0% = EEEHK
XL Em DB TS
B 0
3k - FEDBTE 0 0% 0 0% | EE#H
& 0
4% - F R OB 0 0% 0 0%| E &,
&t 0
5%% - B DR R OB 2 50%|#34EE 5% 2 2| 50%|BISEH
- EE o) -7
&t 2
64K KT DFEEXIIER DB 2 50% | fatEEE 1 2| 50%[EEEAR
- H B O R DB TS B33 1
HERBEOESTERERET IEROBE
- BEDOHH
&t 2
7% KTFORBLEREMETIRRIIERDOBH 0 0% 0 0 0%| REEER K
-EHLEBRERETHIHEMRBEORDOES
MBS ICEB T ERERET I RROBE
‘B 5 DO
B 0
8k ‘KT DEHRE DB 0 0% 0 0%| REH
HFCEBTEREET HHEMBORDOERE
AR LEBRERET IS 508K
B 0
9k KT DOEEOBHE 0 0% 0 0% | BB AR
O TREBLEREMET SHARBOROBTE
EEORE
B 0
it 4l 100%




